CHAPTER 6 PROBE QUESTIONS:
-P.105
1. -Diagram the contingency that maintains Lucille’s undesirable behavior of entering into the nurses’ office:

· Before: No attention
· Behavior: Enter nurses office
· After: Attention
2. -What type of procedure is this? 
· REINFORCEMENT
3. -Diagram the contingency that eliminates Lucille’s undesirable behavior 


(stops the reinforcement):

· Before: no attention

· Behavior: Enter nurses office

· After: No attention
4. -What type of procedure is this?  
· EXTINCTION
-P.108
5. -What procedure did Mae use to find out what was maintaining Josh’s behavior of running away? 
· FUNCTIONAL ANLAYSIS
6. -What were the results of the functional analysis? 
· JOSH’S RUNNING AWAY WAS REINFORCED BY BOTH ATTENTION AND TANGIBLE REINFORCES
7. -Describe the interventions used:
· IGNORE RUNNING AWAY AND NO TANGIBLES (extinction)
-P.110

8. -What is an extinction burst?
· INITIAL INCREASES IN THE RESPONSE FREQUENCY, MAGNITUDE, OR INTENSITY, ESPECIALLY IF THAT RESPONSE HAS AN “EMOTIONAL” OR AGGRESSIVE COMPONENT

9. -Can spontaneous recovery occur during the first session of extinction?  
· NO
10. -Why not?  
· BECAUSE THERE IS NOTHING TO RECOVER FROM, THE FREQUENCY OF RESPONDING DURING THE FIRST PART OF THE SESSION OF EXTINCTION IS AS HIGH AS THE RESPONDING DURING THE REINFORCEMENT SESSION.
-P.111-112
11. -Can someone compare and contrast extinction and penalty:

· -COMPARE: BOTH INVOLVE A DECREASE IN THE FREQUENCY OF THE REPONSE BECAUSE OF THE LACK OF A REINFORCER.
· CONTRAST: PENALTY INVOLVES THE CONTINGENT REMOVAL OF REINFORCERS AND: EXTINCTION INVOLVES STOPPING THE REINFORCEMENT CONTIGENCY.

· -In extinction you don’t remove something you just stop presenting it.

· -EXTINCTION: THE REINFORCER YOU STOP GIVING IS THE ONE THAT HAD MAINTAINED THE BEHAVIOR.

· -PENATLY: THE REINFORCER YOU REMOVE DIFFERS FROM THE ONE REINFORCING THE BEHAVIOR.

· -EXTINCTION: THE FREQUENCY OF THE RESPONSE WOULD HAVE NO EFFECT ON THE AVAILABILITY OF THE REINFORCER

· -PENALTY: THE RESPONSE WOULD HAVE THE IMMEDIATE EFFECT OF REMOVING A REINFORCER.  The behavior controls the removal of the reinforcer.
-P.112

12. -Discuss the table 

-P.113

13. -Can someone provide some of the examples described in the book where they used extinction procedures to get rid of Self-stimulation maintained by automatic built-in reinforcement contingencies? 
· HAND FLAPPING, PLATE SPINNING, VISUAL STIM.
-P.115-116
14. -Can someone describe the example with Laura and extinction of an escape response:

· Before:

· Behavior:

· After:
15. -What are they stopping?  
· STOPPING THE CONTINGENT REMOVAL OF THE AVERSIVE CONDTION
-P.117
16. -Can someone describe the recovery from punishment example involving Judy:

· Before:

· Behavior:

· After:

· -stop presenting aversive condition contingent on behavior
17. -What happened to the response frequency?

· Increases: behavior recovers
-P.119
18. -How would you demonstrate an extinction procedure involving an escape procedure in the Skinner box?
· Before: Shock on

· Behavior: Press lever

· After: Shock on 

· (careful some students may have no shock in the before, this is wrong)
19. -What would happen to the response frequency following this extinction procedure?  
· EXPECT THE SAME SORT OF RESULTS IN EXTINCTIN FOLLOWING ESCAPE AS WE GET FOLLOWING EXTINCTION FOLLOWING REINFORCEMENT: THE FREQUENCY OF RESPONDING MIGHT BE HIGH AT FIRST AND THEN GRADUALLY FALL OFF TO ZERO, THOUGH THE SHOCK WAS STILL ON.
-P.121

20. -Can someone compare and contrast forgetting procedure and extinction procedure: Diagram

-P.124
21. -Can someone compare and contrast recovery from punishment and spontaneous recovery: Diagram

CHAPTER 7 PROBE QUESTIONS:
-P.129
1. -Can someone give some examples of response topography of common day examples:

· SEQUENCE OR PATH OF MOVEMENT-WRITING / LOCATION RELATIVE TO THE REST OF THE BODY- WAVING HANDS ABOVE OR BELOW; RIGHT PAW VS. LEFT / FORM- PUSH-UPS.
-P.130

2. -What is pressing the left lever vs. the right lever an example of?

· response differentiation.  F-STIMULUS DISCRIMINATION
3. -Can someone list some examples of response dimensions?

· FORCE, DURATION, LATENCY, PITCH, and TOPOGRAPHY
-P.131
4. -True or False? We can classify responses according to their dimensions and their function (their effects on the environment)?  
· True
-P.132
5. -What are the three criteria we use to define a response class in terms of?

· DIMENSION, EFFECTS, OR FUNCTION
-P.135-136
6. -Describe the example involving Bobbie: what response class are they differentially reinforcing?  
· MASCULINE RESONSE CLASS; EYE CONTACT, EXTENDED ANSWERS, INITIATION OF CONVERSATION, AND TYPICAL MASCULINE CONTENT.

-P.138
7. -Can someone compare and contrast differential reinforcement vs. plain reinforcement?

· -Compare: BOTH INVOLVE A REINFORCEMENT CONTINGENCY THAT PRODUCES A HIGH FREQUENCY OF ONE RESPONSE CLASS

· -Contrast: -Plain reinforcement: USE WHEN WE’RE CONCERNED WITH INCREASING THE FREQUENCY OF ONE RESPONSE CLASS.
· -Differential:  
EXPLICITLY USED WHEN WE WANT TO INCREASE OR MAINTAIN ONE REPONSE CLASS AND DECREASE A SIMILAR RESPONSE CLASS.
-P.142
8. -Example of differential punishment with Bunny the ballet dancer:

· Before: doesn’t have to hold aversive position

· Behavior: inappropriate movement

· After: has to hold aversive position
-P.143
9. -Ice cream example:
· Before: has ice cream

· Behavior: Holds ice cream carelessly

· After: Has no ice cream
-P.147
10. -Why isn’t simply having extinction a good enough control condition?  
· BECAUSE IT CHANGES TWO THINGS AT THE SAME TIME; REMOVES THE CONTINGENCY AND ALSO REMOVES THE MILK ITSELF 
11. -So you would need to keep presenting the milk without making it contingent on the response: and this procedure would be called?

· VARIABLE-TIME STIMULUS PRESENTATION


12. -In what condition do we use variable-time stimulus presentation? 
· CONTROL CONDITION
13. -Why do we only use variable-time stimulus presentation in the control condition?

· This way the only difference between the control and the experimental conditions is the contingency-both have the same stimulus presentation
14. -So what does it mean if the response frequency still does not increase? 
· THE CONTINGENCY IS WHAT IS IMPORTATNT, THE CONTINGENT PRESENTATION FO THE MILK FOR EACH RESPONSE

